IB Math PreHL






Name:  _____________________________
Chapter 7 Test Part 2






Period:  _____

Graphing Calculator is allowed in this exam.  Unless otherwise stated in the question, all numerical answers should be given exactly or correct to three significant figures.  Full credits are not necessarily awarded for a correct answer with no work shown.  If you used graphing calculator to find the answer, show the way you entered in your graphing calculator.   
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Arithmetic Series:  
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  and  Geometric Series 
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1. [3 pts] If the sequence 
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 is arithmetic, what is the exact value of 
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1. ________________
2.  [2 pts ]  Write the series in sigma notation.
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2. ____________________
3.  [3 pts] A swinging pendulum travels an arc of 36 cm in its first swing and then returns to 75% of its previous arc on each swing.  Find the total distance traveled until it comes to rest











3. _____________________

4. An arithmetic sequence 
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, with complex terms, is defined by
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     a) [3 pts]   Find the 5th term of the sequence .  Leave your answer in the form 
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4a. _____________________
     b)  [2 pts] Write down a formula for 
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 in terms of n. 





























4b._____________________

   A second sequence 
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is defined to by 
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c) [2 pts] What is the first term of this sequence 
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4c._____________________

    d) [3 pts] Write down a formula for 
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 in terms of n and 
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4d._____________________

5.  The sum of the first 20 terms of an arithmetic sequence is 
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and the 6th term is 
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a. [3 pts] Find the first term and the common difference. 













5 a.____________________


b. [4 pts] Hence find the largest value of n such that sum of the first n terms is greater than 
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5 b. ____________________
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